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Answer either in English or in Assamese

1. Choose the correct answer of the following :

1x10=10
oo faPTed wa Seddh! a1tk Tfene

(@) IfA=(24}andB={2 3 4, 5}, then find

T A={2,4} WIF B={2 3,4,5 =, (53
Sfereqr

) A>B
(i) AUB
(i) AcB
(iv) AnB
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(2) (3 )

e (=l 1‘ (e) An example of discontinuous function is

Y =b* 0= o ffozs Ferq «fb Tnrzae G2

(i) constant function

(i) rectangular hyperbolic function
2w (575 o) _

FORFN Hege Fol
(i) polynomial function ) i
el T ) (i) quadratic function
b, . 4 faqre Fome
(i) singular function )
ol o v (iii) cubic function
(iv) exponential function TRICREE]

ORI T

(iv) polynomial function

() If lim L =0, then lim (L-Fl) is Tl T
n—oo 1] n—oo n
3% im L-g @ lim (n+l) toz () Differentiation of capital w.r.t. time is
g 1t noel n ) ~ T T AN S FRCA TR T
i) O .
(i) 1 $ (i) gross capital
(i) oo 30 T
(il)) n (ii) marginal capital
(d IY=fx)=b then lim is oqIe
X— M
WY =fx)=b, ®@ lim ram (iii) investment
. X->M . 5.1
(i) b fRfaa
(H) % (iv) time path
ke ST A
(iv) b] M
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2. Answer the following questions :

(6)

S 2PPTRY Ted fofe -

(@) State ordered and wunordered pairs
with an example.

R (SFfS) T wpozer (Srafire
e R 1o, S e v LRk

(b) Define quasi-convex.
TG PR @] gy |
(c) State why for minjm,

the second-order .
positive,

ization of g function
ondition should be

AL iy Rt <R

.
(d) Find Ey for y = loge?

e2x
d
Ey fef Y= loge?
e2Jc

(e) Why do we hee

G 39T #Agay 9 TS R iy B o
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2x5=10

(7))

3. Answer any four from the following
questions : 5x4=20

worq 2T GGl BiRer g fors

(a) Distinguish between implicit function
and explicit function. Map the following
function : 3+2=5

XY =a
fifte Taq WF MRS FAAS TER ALY
el 9| OO TeRod  AAbEe  SAF
9l

XY =a

(b) Define continuity of a function. State
why a function must be continuous for
it to be conformable for differentiation. 5

T YREAIRTO! {%1’6?{ & T«M? Fed
SEEd AT 9Bl T [ 4R[S 779 e,
forar |

¢) If TR = PQ, where P and Q are price and
(c) p
quantity respectively, then show that

e =L 5
¢ " AR- MR
7fi TR =PQ, TS P A T AE Q (T2
s{fqael, (98 (TSI @,
AR
ed =
AR - MR
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(@)

(e)

20A/576

(8)

Given the following average cost
function, find the marginal cost
function :

AC=100-100Q+(})Q?

where Q is the level of output produced.

wore Wl oTC IW FN9 o[ AR Y T
e <41

AC=100-10Q+()Q?
'S Q 2= TR AT “fRwe |

Mention the condition under which the
technique of total differentiation is used.
Also explain the statement, “Integration
is the reverse process of differentiation.”

2+3=5

ﬁWWWﬁWW%WW

T S AR (R G Ay
e W S A

Explain the necessity of integrating
the demand curve for finding out
consumer’s surplus.

2P Tge MR A ol we e
SCATSTS] AN 41 |

( Continued )

(9)

4. Answer any four from the following

questions :

od 2PPTIRA Il BIRER Teq ferd

(@)

(b)

20A/576

For a function Y =logx, prove that

Y L e hnd the lmit of ihe
dx x

function :
i % =B
lim .
x20 x“ +x-30
GOl Foq Y =logx, M9 ¥ & o

F9[(® ©old Fofeid limit ¥ e 1 -
’ x2 -25
lim ———
x-0 x2 4+ x-30
If the production function
Q =40L +3L2 —%L3

where L is the employment of labour,
find the size of labour to give maximum
output. Also show that if demand curve
is linear, marginal revenue is half of
average revenue at output q.

i T T Q=40L+3L% -118,

L ¢tz ¥fie PSS fRaeme | s Sema
o 1A e AT gy 29, Ady o4 |
e (el @, T vifRm @ (R <1 aew
e W, (S8 AT ON (2 T TEG Wyl
'S AWIR AR C2E g.
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10x4=40

6+4=10

5+5=10



(

(d)

(e)

(10 )

Given the demand function P = (10 - X)?

and the cost function C=55x—8x2.
Find the maximum profit. What would
be the effect of an imposition of a tax
of ¥ 9 per unit on price?

oM ¥ P=(10-X)?2 WF IW wow
C=55x-8x? 2’0 % e @y =371

M dfe gFo ANAR 89 & 97 37 TR 741
2, (903 UMY @°[e F qo1 #/g 2

Show that even after imposition of
lump sum tax and profit tax equilibrium
condition of market will remain the
same. Also show that imposition of sales

10

tax results lesser output. 6+4=10

(S @ lump sum N HF FAerTs 59
WW&WW%Q@W|
A0S (e @ [BH 79 Wk shee s
TeAmET 2157 #f1 |

() If the demand function is
Q= 50‘--2P1 +3P, +0-2Y, then find
the price elasticity and income

(11 )

(i) The marginal revenue function is
given by MR=50-4Q. Find the
point elasticity of demand when

0=10. 5+5=10

AS SRE Fe (2@ MR =50-40.

o =10.

(i) The total cost of a firm is given by
C =5000-15g+5g2. Find the level
of output at which the slope of
the average cost is zero.

49 ¥ P 4 C = 5000 —15g +5¢°.
e ARTIR TEAe FRES ST AR
(FTCTES O 0 R ?

(i) Obtain consumer’s surplus of the

following demand function, given
the market price :

when price =16. 3+7=10

weq BIfEwl T 7|1 TeicereR Tge ey

:;;sticity, where Y =500 and B =2 90
BIEGREE
3
0,=80-28 1 3P, +0.8y 0= Jeo-(3)p
‘vﬁ%ﬁm’—mwwfé%mm e »
91, I® Y =500 &% P, =2, @feq P=16 = |
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(12

(g9 If the marginal revenue function for

output x is given by MR = 5 +5,
(x+2)

find the total revenue function and

the demand function. 10

AT W T x N qE
MR = +5. L WE W ofEM e

(x+2)2

efy <11

() For the following production function
Q=aL® +bL? +cL+d, what restriction
a, b, ¢ and d will follow to have a true
form of cubic production function?
Also find at what level of labour (L), the
total output will be maximum. 10

AT AW T Q=aL® +bL? +cL + g3

a, b, c W dA @ERT A we@y

PR IR 47 3ol Wl TS worm Fghs
AR ? S A= ﬁﬁmmﬁfﬁwﬁmm{b
TR ST F99, [Refg 57 |

* k%
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